H & 0l & AHS B Ml A

A HSuUSH
M IAUD OHNE DESA X4
el 2AE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Hsnss 71,488,789 57,049,231 14,439,558
= 10,019,000
[ 214,000
= 8,170,436
Al 53,085,353
AMUALD e nsed X 71,407,181 56,963,539 14,443,642
= 10,019,000
[ 214,000
= 8,170,436
Al 53,003,745
2 X2 70,807,543 56,713,673 14,093,870
= 10,019,000
= 214,000
= 8,170,436
Al 52,404,107
2=gH RS 13,041,000 11,921,000 1,120,000
307 @120l & 13,041,000 11,921,000 1,120,000
09 2FSHEXS 13,041,000 11,921,000 1,120,000
O2=gH RIIEX= 13,041,000
—HASH(ER) 738,000,000 738,000
— A4 (CNG) 1,303,000,000& 1,303,000
—EHAIE A 3,500,000,000& 3,500,000
—ot=gH 7,500,000,000& 7,500,000
AMUHHA THEXIE 12,994,633 12,848,190 146,443
308 AFAIEHMSOIH 12,994,633 12,848,190 146,443
07 AX 2L FE= 12,994,633 12,848,190 146,443
Q4G B8 2ABE
12,518,310,000& 12,518,310
OAUEIA 2 ZY L MbIA HEX
& 476,323,000 476,323
Stligol AP A 484,162 65,188 418,974
308 AHAIEHMSOIE 484,162 65,188 418,974
07 HAHH 2R 52 484,162 65,188 418,974
OAILY - DS A EAERsSE01 X3
484,162,000 484,162
MNattA ==X 78,200 4,990,900 4,912,700
307 glztol & 78,200 4,990,900 4,912,700
09 2+AE2LS 78,200 4,990,900 24,912,700
OMaHA ZAIA 78,200,000& 78,200
MNatHA 2SN 550,000 605,000 /55,000
= 110,000
Al 440,000
307 @120l & 550,000 605,000 55,000




A HSuUSH
B HAQUD OB DESBH XA
=t 2+=AtE XA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 110,000
Al 440,000
09 2+ AE2LES 560,000 605,000 /55,000
OXNaitA 2S X2
5,000,000 *110CH 550,000
= 110,000
Al 440,000
The ZDITHA(=HI) 18,440,000 0 18,440,000
= 9,220,000
= 2,766,000
Al 6,454,000
308 AXIHS0IA 18,440,000 0 18,440,000
= 9,220,000
= 2,766,000
Al 6,454,000
18 SIS0t oA AS A 18,440,000 0 18,440,000
OThe ZIIIHA(=HI) 18,440,000,000& 18,440,000
= 9,220,000
< 2,766,000
Al 6,454,000
The ZIIIHA FIHAIA 646,097 0 646,097
308 AHAIEMSOIH 646,097 646,097
07 MXISHHIRE = 646,097 646,097
OThe ZJIIHA FIHXI&A
646,097,000 646,097
Olglol - Eayd wEHl XA 767,181 1,080,604 A313,423
308 AtXIEMSOIE 767,181 1,080,604 A313,423
07 XA EE2 767,181 1,080,604 A313,423
O0glol - A8 wsHl XIFA
767,181,000 767,181
S3EHA X 428,000 330,000 98,000
= 214,000
Al 214,000
307 el2tol & 428,000 330,000 98,000
= 214,000
Al 214,000
0 2=gHEXS 428,000 330,000 98,000
O33EHA 28 NA(CAE S22 A
&) 428,000,000& 428,000
[ 214,000
Al 214,000
SEE HA 2 & 157,500 218,000 260,500
= 47,250
Al 110,250




A HSuUSH
B HAQUD OB DESBH XA
Rl 2FA X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 157,500 218,000 260,500
= 47,250
Al 110,250
09 2+ AHAELS 157,500 218,000 60,500
OstsaA 29 X2
157,500,000 157,500
=S 47,250
Al 110,250
EHA 28X 1,277,500 316,050 961,450
< 383,250
Al 894,250
307 lztol & 1,277,500 316,050 961,450
= 383,250
Al 894,250
09 2 AELS 1,277,500 316,050 961,450
O=tlA 29 X 1,277,500,000& 1,277,500
= 383,250
Al 894,250
A SedA & DAHH 29 43,766 10,246 33,520
308 XM SOIE 43,766 10,246 33,520
07 XA FEE2 43,766 0 43,766
OSHA Hat U DUME 29
43,766,000 43,766
A= S3HA X2 3,031,360 2,428,051 603,309
308 AXIMSOIA 3,031,360 2,428,051 603,309
07 AX R FE=S 3,031,360 0 3,031,360
OIS TTHA 2Y X
3,031,360,000& 3,031,360
ZIIE AlUHA S32elH N(E =2 o) 2,987,898 1,264,603 1,723,295
308 AtXIEMSOIE 2,987,898 1,264,603 1,723,295
07 HAHH 2R 52 2,987,898 1,264,603 1,723,295
OFIIE AlUIHA BRZEIH NB(E =2
L) 2,987,898,000& 2,987,898
ZI|E AUHA S322lM XAl =2 =H) 4,561,808 5,062,316 490,508
= 1,368,542
Al 3,193,266
308 AXIMSOIA 4,561,808 5,062,316 A490,508
= 1,368,542
Al 3,193,266
183 S| 2SO &HAEAIE 4,561,808 5,062,316 490,508
OZJI= AMUHA S322lM X2 (Al =2
L) 4,561,808,000& 4,561,808
== 1,368,542
Al 3,193,266




A HSuUSH
Hu: AAYD OHEE DESE TH
Rl 2FA X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
28 249 EXIAMY 113,400 47,466 65,934
308 XXM SOIA 113,400 47,466 65,934
07 XM 2LREES 113,400 47,466 65,934
OFIIE HA SABAN 24 22
113,400,000 113,400
Al JIEZ2H =2 K& 698,024 834,076 136,052
s 209,407
Al 488,617
307 212+01& 698,024 834,076 136,002
< 209,407
Al 488,617
09 2+LAE2LES 698,024 834,076 136,052
OSAl IIEZH 442 K&
698,024,000 698,024
= 209,407
Al 488,617
Al JtEEHZD| St XE 91,200 91,450 A250
=S 27,360
Al 63,840
307 21201 & 91,200 91,450 A250
< 27,360
Al 63,840
Q2= HEXS 91,200 91,450 A250
Ol St Sde X
91,200,000 91,200
= 27,360
Al 63,840
2= SHAl 2H| N 200,000 250,000 50,000
307 gl2to| & 200,000 250,000 50,000
B 2=EHEXS 200,000 250,000 /50,000
ORHSRUE SeAl 28| 1R
200,000,000 200,000
HRIEHAl 2=SAK MM 696,000 637,200 58,800
& 487,200
Al 208,800
307 glztol & 696,000 637,200 58,800
= 487,200
Al 208,800
B 2=gHEXS 696,000 637,200 58,800
02025 HOIERAl 24+BAA MMM BX
= 696,000,000 696,000
=S 487,200
Al 208,800
BIAN2YEEE 2elAAE 2SEAY 41,080 36,569 4,511




A HSuUSH
B HAQUD OB DESBH XA
Rl 2FA X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 41,080 36,569 4,511
18 SIS0t 4 A AS A 41,080 36,569 4,511
Ot=muSHESH A2 222 AL
Bl 2] 9|EAIRIH| (20251)
41,080,000& 41,080
BEHAl EIIRAID 22X SXHOIX) X 99,200 161,600 262,400
=S 20,160
Al 79,040
306 EX= 32,000 80,000 /48,000
01 £g= 32,000 80,000 /48,000
OZIIBESNE B2
32,000,000 32,000
307 glztol & 67,200 81,600 14,400
= 20,160
Al 47,040
08 OIXt2& = 67,200 81,600 14,400
OYBHEAl ZIIZAD 22X SXHOIT) X
! 67,200,000 67,200
S 20,160
Al 47,040
S HAIEYH &4 10,000 0 10,000
< 10,000
401 AlEHIZ 201 7,500 0 7,500
=S 7,500
01 Al&H| 7,500 0 7,500
020254 SHAIEH 24 K&
7,500,000& 7,500
= 7,500
405 AHaHE S 2,500 0 2,500
= 2,500
01 ML ESFISHI 2,500 0 2,500
02025 BIAlEH =4 X2
2,500,000 2,500
< 2,500
Sgusst g 49,000 0 49,000
= 49,000
405 AHaHE = 49,000 0 49,000
= 49,000
01 TR ESF SHI 49,000 0 49,000
OSgnsS=(24]) 49,000,000 49,000
= 49,000
Sgusst 29 8,570,534 8,373,274 197,260
< 2,741,267
Al 5,829,267




A HSuUSH
M IAUD OHNE DESA X4
Rl 2FA X3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 8,570,534 8,327,524 243,010
= 2,741,267
Al 5,829,267
18 SIS0t HAS A 8,570,534 8,327,524 243,010
ORSATOISKAME ST AL ALH]
8,570,534,000& 8,570,534
=S 2,741,267
Al 5,829,267
SEuS+H A0S 750,000 712,500 37,500
= 750,000
308 AtXIEMISOIE 750,000 712,500 37,500
= 750,000
18 SIS0t 4 A AS At 750,000 712,500 37,500
OSgusS=+H 24t 750,000,000 750,000
= 750,000
delet usetd &4 599,638 249,866 349,772
AUBIA SSSOIIH0l AFY 176,828 189,077 N12,249
201 er23 | 176,828 189,077 N12,249
2 352484l 176,828 189,077 12,249
OAILHH A SE2A0(LH0] AFS
176,828,000& 176,828
wNESEAM XA 2,800 3,800 21,000
307 gl2to| & 2,800 3,800 21,000
02 QIZHEAAEE X 2,800 3,800 21,000
OsFel=ssEe us=Igs X2
ArS X 2,800,000& 2,800
nsdy 23 420,010 56,989 363,021
201 Ler23 | 7,900 5,200 2,700
01 At2t2lt] 7,900 5,200 2,700
OHAZHL2RZ S &
100,000 *x9 & »22| 1,800
OAlUHA SS2clH 28933 H48+E
100,000& *7 & »23] 1,400
OHAIZIEE B4+
100,000 5 »23] 1,000
OHAIZHAR HA
100,000 8 * 12 800
OuRt& HAXYl?E2l 4+
100,000 7 & *13] 700
OuSAHAOISEASEARS g
100,000& 10 12] 1,000
OBlA &M JHEgor 28 H2EH 3
otelE gt
60,0002 x10Z *12]x2A| 2+ 1,200
203 HE=AH] 5,090 4,389 701




A HSuSw
[e]

M EMUAD HNE nSEE =d
el Helst unsEd x4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A=A RN 5,090 4,389 701
OREY SIAN 2xz
5,090,000& 5,090
207 ARl 400,000 33,000 367,000
01 Sl 400,000 33,000 367,000
STA HA SAMA OBy =8 AP
= 400,000,000& 400,000
301 2eEN= 7,020 14,400 27,380
11 AALEEIXIE S 7,020 14,400 AT,380
OREXAHE TRAZAX SAH|
9,000& 26 30 7,020
Y= ZH(HSnSY) 81,608 85,692 4,084
=238l 81,608 85,692 A4,084
JI23Hl 81,608 85,692 A4,084
201 =3 60,248 58,140 2,108
01 At22t2lt] 21,600 19,872 1,728
ORA2gII1=23H| 21,600
—2Bt=2H| 40,0002 x25F 12 +0.8 9,600
—=4| 50,0002 x25Z*122+0.8 12,000
02 S3=gHl 38,648 38,268 380
OoRER3 38,648
—gpted 4302 <00 122 4,644
—s|I*# 2,530&3*1,12024+ 12 34,004
202 04l 18,000 24,192 A6,192
01 =LHAHI 18,000 24,192 26,192
Oge=dJI20H|
120,000 x252 %122 +0.5 18,000
203 =4l 3,360 3,360
04 PAE2EERFAH 3,360 3,360
ORMEEE =2
350,000 122 +0.8 3,360




